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Right Triangles 
 
 
 
 
 
 
 
 

A+B+C=1800   K=Area  
Pythagorean 

Theorem 

 

a b c2 2 2+ =  

A and B are complementary angles 
sin A = cos B     tan A = cot B     sec A = csc B 

cos A = sin B      cot A = tan B      csc A = sec B 
 

Given To 
Find 

 

Equation 

 
a, c 

 

A, B, 
b, K 

sinA
a
c

=          cos B
a
c

=    

b c a= −2 2      K
a

c a= −
2

2 2  

 
a, b 

 

A, B, 
c, K 

tanA
a
b

=         tanB
b
a

=    

c a b= +2 2      K
ab

=
2

 

 
A, a 

 

B, b, 
c, K 

B A= −900       b a A= ⋅ cot  

c
a

A
=

sin
         k

a A
=

⋅2

2
cot  

 
A, b 

 

B, a, 
c, K 

B A= −900        a b A= ⋅ tan   

c
b

A
=

cos
          K

b A
=

⋅2

2
tan  

 
A, c 

 

B, a, 
b, K 

B A= −900        a c A= ⋅ sin   

b c A= ⋅ cos        K
c A

=
⋅2 2

4
sin  
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